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Note : First 15 minutes arc allotted for the candidates to read the

question paper.
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Instructions :

1.

i) All questions are compulsory.
ii) Illustrate vour answers with labelled diagrams, wherever necessary.
iii) Marks allotted to each question are mentioned against it.

( Tgfameda weT )

( Multiple Choice Type Questions )
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| .~

%) At w9 F W ey Em R A 2

i I A i) g EN
i) w2 iv) BT ERT | 1

@) T § wFE o (GHZa Srgiee) FH: B8

) 10-11EEw ii) 28-29 it =
i) 25-26 75 jv) 17 & & 1

60011/73 [ Turn over



348(CG) 2

T)  UH-HWFoUFoUo F Werddl ¥ WA HYemw &) whkdr Feeirdl &
i) AR i) FAAEA
ifi) e STerEH iv) wfafafaeron |
w) fager e few AR @ S § 20dm feen s g 2
i) =gmitE i) TAwEE
iii) e iv) & |
1. Choose the correct option and write in your answer-book :
a) In Vallisneria, the pollination occurs by means of
i) Water i)  Air
i) Insects iv] Human beings.
b) Menstrual cycle in women typically occurs in
1) 10-11 days ii) 28-29 days
iii) 25-26 days iv)] 17 days.
c) The process of protein synthesis with the help of m-RNA is called
i)  Translation ii) Transcription
iiij Reverse transcription iv) Replication. -
d) Widal test is used for the diagnosis of which disease ?
ij Pneumonia | ii) Typhoid
iii) Malaria iv) Cholera.
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( Ff¥aw st ov )
( Definite Answer Type Questions }
2. F) 9 fafaud awge & oRwied S 1
F) Teed U9 4 g w9 ¥ R faerfem B e et € 2 l
M) WS gEU § Wil RIS H w1 FE g 7 1
7 e o femerft gt oRE 1§ 2 I
T) g @ @ e @t 4l 2 1

2. a) Define the biodiversity hotspot.

b) Which vitamin is abundantly found in Golden rice ? 1
c) What is the function of Sertoli cells in human testis ? 1

d) How many pairs of chromosomes are found in human beings ?

e) Who discovered Penicillin ?

( afq Ag I 0¥ )
( Very Short Answer Type Questions )

3. @) fafeeasE amiar 9T 8 w961 Tl € 2 | 2
@) 3k DNA-XFoT & ©F Rue § g WHERI H HH Feed € -

5'-ATGCATGCATGCATGCATGC-3"" °
1 T W v § AR A B FH 355! R & Fam 2 2

) @Hﬁt&ﬁ(nﬁﬁz)mméﬁamﬁﬁml 2
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b)

c)

d)

d)

4

. F( MTP ) ?
What do you mean by medical termination of pregnancy | ) 2

: : +rand of DNA-helix ig
If the sequence of Nitrogenous bases in onc stran

5'-ATGCATGCATGCATGCATGC-3' then what will be the sequence of

: , ¢ NA helix |
nitrogenous bases in complementary strand of that D in
. 2
3" 5 5'direction ?
Draw only labelled diagram of a single antibody molecule. 2

: ‘i ?
What is Heroin ( Morphine ) ? This is obtained from w hich plant -

1 +1
What do vou mean by central dogma of Molecular Biology ? 2
( WY I I )
( Short Answer Type Questions )
EET T ORSES W ae feueh ftag | 1% + 1Y%
TE-TITSA T 2 IR0 Hied IEERY | 3
DNA T 35vzieid Ga-1 &l FHael THiha by §95d | 3
A7 AT whed ¢ 2 faeren Sifew 3

Write short notes on Lichen and Mycorrhiza.

What is codominance ? Explain with example.
!

3
Draw only labelled diagram of a DNA double helix structure 3
What do ¥ou understand by transcription ? Describe it 3

2
>
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N T E ) T e 9 W 9 aard | 1+2
= T d1 w1 amog i f TR | 3
o7 Weer= dvmta #t aRewfa A | deifferar SR S0 % T ¥ @
TR | 1+1+1,
ToHo3 o g frmult fify | 3
What is endosperm ? Describe the process of its development and
functions. ‘ . 1+2
Draw a labelled line diagram of women's reproductive system. 3

Define sex linked inheritance. Explain it with haemophilia and

colourblindness. 1+1+1
Comment upon PCR. 3
TUTH T THIGA! (FAH I qUH e | 3
TFAT AV T T TS ¢ 2 9 I e THAH | 1+2
AFATE FT B uq@ fataenatt &1 aui Wi | 3
ZEAFITE T =ZHIaT E‘n‘?ﬂﬁﬂﬁ%ﬁ% 7 37 @ fefEu | 1% + 1'%
Describe the Mendel's law of dominance. , 3

What do you mean by polygenic inheritance ? Describe with suitable

example., ' : 1+2

Describe the main characteristic features of Genetic Code. 3

What are the causal organisms of typhoid and pneumonia ? Give their

1 -+ 1
symptoms. 12+ 1%
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( forma wdta we e )
( Long Answer Type Questions )
S drahTet w e fafEe | 5
Fraan
gete drt & g @R sfean s dfo aE S 5
Write an essay on Biotechnology. 5
OR

Describe the process of microsporogenesis in Angiosperms with diagrams.

5

o fafawer ¥ omg w EHER ¥ 2 T W @ fane fafd ® fewer @ e

HT | 5
Hadr

T & Y] 9 UL S EE & Qe aue i | 5

What do you mean by Biodiversity ? Describe its different methods of

conservation in detail.

9

OR
Describe the structure of human sperm and ovum with diagrams, 5
e T & S A F T & A e | 5

AT

FFeR 9 T e € 7 A A I et S s g

ofgd g FAG | 5
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9. Describe the dihybrid cross with the help of checker board.

OR

What do you mean by adaptations ? Describe various adaptations in living

organisms, with suitable examples. S
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